DAILY BASIS ASSIGNMENT
DAY: WEDNESDAY CLASS: V DATE:13.05.2020

SUBJECT: ENGLISH

l. Fill in the blanks with suitable personal pronouns.
1. John is my friend. is very intelligent.
a. He
b. She
c. They
d. It
2. Alice and Mary are my students. are very hard working.
a. She
b. He
c. They
d. It
3. The apple was over ripe. We threw away.
a. Them
b. They
c. It
d. This
4. | have lost my keys. Did you see ?
a. It
b. They
c. Them
d. That
5. Children went on a picnic. had a nice time.
a. He
b. She
c. They
d It

SUBJECT: EVS

1. CHOOSE THE CORRECT ANSWER.
1. We get food, oxygen, medicine and timber from

a. Plants b. Water c. Animal d. Factory
2. Farmer work hard to get

a. Good crop b. Agriculture  c. Dispersal d. Short



3. Itis important to sow right seed in right
a. Season b. Dispersal c. Farm d. Factory

4. To prevent overcrowding so that seed get the essential conditions to germinate they need to be
a. Dispersed b. Kharif crops c. Agriculture d. Field

5. The feature which enable a seed to be carried by animal is

a. Presence of hooks b. Wind c. Light d. Heavy

SUBJECT: MATHS

I. Choose the correct option:

1.The estimated product to the nearest hundred of 139 and 108 is

2)20,000 b)30,000 €)40,000 d)10,000
2.The estimated product to the nearest hundred of 213 and 120 is
a)40,000 b)20,000 €)10,000 d)30,000
3.The estimated product to the nearest hundred of 265 and 184 is
2)60,000 b)40,000 €)20,000 d)50,000
4.The estimated product to the nearest hundred of 330 and 120 is
2)40,000 b)10,000 ¢)30,000 d)60,000
5.The estimated product to the nearest hundred of 360 and 110 is
a)20,000 b)40,000 €)10,000 d)50,000

SUBJECT: COMPUTER

l. Choose the best options from those given below:-
) is also called as binary digit
(a) KB (b) Byte (c) Both (a) and (b) (d) Bit

i) Computer only responds to two
(a) Signals (b) Storage (c) states (d) Both (b) and (c)

iii) Some common secondary storage devices are
(a) Floppy disk (b) Hard disk (c) Both (b) and (c) (d) ROM



iv) A is usually 3.5 or 5.25 inches in diameter

(a) CD - ROM (b) Floppy Disk (c) Hard Disk
V) The greater capacity of enables the
(b) DVD (b) Hard disk (c) Both (b) and (c)
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(d) Pen drive

to store a better quality of video/audio input

(d) ROM
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